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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AL A 408,506 1,412,942 A 1,004,436
FIEHQ Xl 231,444 915,147 A 683,703
HII=2 SeHdclAlE &2 192,564 839,690 AB4AT, 126
HOI2 SEH2AE 22 192,564 839,690 A 647,126
101 @124l 1,254 27,282 226,028
M4 JI12ZHZEXNSES 1,254 27,282 226,028
OB XNJAAMI AL =8 E=HA
41,800 x5 x3 »23] 1,254
201 LEr2 Y| 116,490 113,788 2,702
01 At 22l 33,496 32,046 1,450
O AHEZ HIISHMelAlE =23 At 6,482
— &&= =ZZAHl 320,800 x1238] x 101 A& 3,850
— i+ =ZZ At
164,500& *43| 101 A 658
— Kot =2 & At 164,500& *43] x304 A& 1,974
OMEEZ HISH2ANE EL L =ZZ AtH| 24,384
— Xlots = AE(FH, ALY, H=)
137,800& *43| 704 A 3,859
— XIGha= =Z 2 AtHI (&HA)
137,800& x123] 30 A& 4,961
—ot& = =Z & At 27,0003 43| *8IH & 864
—ELQAT HAHl 918,700 *13] 1604 & 14,700
oul=l 1,680
— &Y= 200,000& x2H *23] 800
— 2= 200,000 »2H 400
— &3 50,0003 «2& 22 &l 200
— I 500& 2004 100
—2HIDEEZ 900& *200H 180
O=Zglyd EH #¢ 200,000& x 13| 200
OFAMEE 4224 28 ¢ 750
02 =224l 82,994 81,742 1,252
OF=F=g=b=) 49,217
—HIRB(=EHISZTEMAELY) 42,000
—HIRS(MEH2MEF)
17,0002 20 2+ 12& 408
— &J|et& 2t T &l g 272,360 128 3,269
— 203 HE2 | 120,000 128 1,440
— &3 75,000& x12& 900
— oY ¥ LS AZ 100,000 x12E 1,200
OMEEAIE =&KXt 2,000
OPI= == N 600, 0002 »5CH 3,000
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S OIS SEMH2AALE 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OXtgr & AMD|HEH KX
1,200,000& x4 CH 4,800
OXt&EEdA S 21,977
— 310Xt 1,758& x1,3004 =1CH 2,286
—ea2e 1,758& *3,3004 *1CH 5,802
— & =24 1,758& x5,7004 =104 10,021
—HEEEZEY 1,758& x2,2004 =1CH 3,868
OlgE HAzdl 2,000
202 (4] 2,000 2,000 0
01 2L Y] 2,000 2,000 0
OsZHJI=2 ZgXH2gR =4 2,000
206 M= Hl 2,820 5,820 A 3,000
01 X2 bl 2,820 5,820 A 3,000
O s 43 35,000& *523] x1JH 2 1,820
ONgEd SEI| MEUYE(Is2s)
500,000& x2& 1,000
307 QI2t0| ™ 70,000 70,000 0
05 A2t E 2 70,000 70,000 0
ONMgEadEE DI2HE 70,000
AL TH A Ofl 4 XI At & 38,880 75,457 A 36,577
IOl 2OtA SYHEANd 29 38,880 75,457 N36,577
201 LBEt2 A Y| 27,880 24,752 3,128
01 AP 22l Yl 2,180 3,436 N 1,256
OHE A = A 300,000& 43| 1,200
o=l 980
— &= 200,000 x1H 23] 400
— gst= 200,000& *1H 200
— &3t 50,0003 *1H +2& ¢ 100
— Bt E A2 500& *200 4 100
22X DEHY 900& *200H 180
02 3524t 25,700 21,316 4,384
OJIAEHD| KANES 14,900
— 2 HHEH| 1,000,000& x12& 12,000
— s 800, 000& x23] 1,600
—H2==0x 300
— 2N ARY BF 1,000
a2 2 4 2FnE 200,000& = 15CH 3,000
oAy 2 L Y| 1,300
OsLdHHE=2I 3,000
OANEZEH RIABXH (AREEERY) 2,000
OA=IIE8 &l 100, 000& = 15CH 1,500
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Sl ATHA O X AHY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 11,000 50,705 A 39,705
01 =8l 11,000 50,705 A 39,705
OHIoI20tA SYEEAIE 23] 11,000
— 2= 1, 100& *5,000L*23] 11,000
HE2HAZH (BZ TR A L) 8,720 8,720 0
Jl=&l 8,720 8,720 0
Jl=dl 8,720 8,720 0
202 04 Hl 5,280 5,280 0
01 = LH Yl 5,280 5,280 0
ORNM2E=UWHAH 5,280
203 YR =&l 3,440 3,440 0
02 ML RFZY 440 440 0
OFEINIMELEAY] 40,0002 *112 440
04 EA2IYRFLH| 3,000 3,000 0
ORN2IEYRF=AHI 250,000 128 3,000
MWEes 168,342 489,075 A 320,733
HEAHHK = 168,342 489,075 A 320,733
LHE Hel 168,342 489,075 A 320,733
701 JIEISI AN E 3 168,342 489,075 A 320,733
01 JIEtSIHE &3 168,342 489,075 A~ 320,733
ONEE2aXMeld & NASAIE 2EH Z2HIR
g= 168,342




